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1. Find the solution of the following equation:
(a) x*y" —2xy' +2y=x'e" (10%)
) y' -4y +4y=(x+1e** (10%)

© ¥ +20 ~4p=1 ;p(0)=y (=0 (10%)

2. Alarge tank is fulled with 500 gallons of pure water. Brine containing 2 pounds of
salt per: gallon is pumped into the tank at a rate of 5 gal/min. The well-mixed
solution is pumped out at the same rate Find the number A(t) of pounds of salt in
the tank at time t.. What is concentration of the solution in the tank at t=5

min 7(10%)

3. Evaluate the surface integral Hs G(x,y,z)ds,where G(x,y, Z) =X,
S: the portion of the cylinder z=2— x? in the first octant bounded by x=0, y=0,
y=4, z=0, (10%)

4.(13%) Find the inverse of

x(2) = 36'"'";', 0<tsz.
Determine the Fourier series of x(t).




